Séries : L1a-L1b-L'1-L2

Zéme

Epreuve du

LANGUE VIVANTE | groupe

ANSWER KEY
(8 marks)

|. READING COMPRENHENSION
A. Paragraph matching
1. The sociological study
2. The need for reasonable use
3. A world of change
B. Sentence completion (0.5 x 2 =1 mark)
5. ... However, it has a few harmful effects on the lives on many youths.
6. ...life has become more complicated
7. ...their happiness or sadness depends on the reply which they receive from other users.
C. Chart completion (0.5 x 4 = 2 marks)

(0.5 x 4 = 2 marks)
= paragraph 3
= paragraph 2
= paragraph 1

List two advantages of whatsapp List two disadvantages of whatsapp

7. ...connect to the society and the whole world./
... a powerful medium for the flow of information
and ideas.
8. a medium for making communication easier
and faster / effective flow of information,
idea sharing and connecting people easier.

9. a profound negative impact on youth /
adversely affects their education, behavior
and routine lives.

10. It disturbs much or study time of students /
spoils their spelling skills and grammatical
construction of sentences/highly addictive
and difficult to control

D. Referencing

(0.5 x 2 = 1 mark)

11. this app (parag. 2): Whatsapp/this application

12. It (parag. 3): the study
E. True-False with justifications

(0.5 x 4 = 2 marks)

13. True: “....users give up their real world interests”.
14. False: “...currently available on most electronic devices”.

Il. LINGUISTIC AND COMMUNICATIVE COMPETENCE

(6 marks)

F. Dialogue completion
15. weaker

16. harmful
17. informed

18.users

(0.5 x 5 = 2.5 marks)

19. ( any coherent and linguistically correct phrase)

G. Word formation
20. educate 21. Informing
H. Matching statements and notions
23. Olbigation
24. Opinion
25. Possibility
26. Advice

IIl. WRITING (6 marks)

(0.5 x 3 = 1.5 mark)

22. Parental

(0.5 x 4 = 2 marks)

1. Topic comprehension: 1 mark, 2. Organization: 1 mark; 3. Coherence and cohesion: 2 marks,
4. Language accuracy: 1 mark, 5. Originality: 1 mark




